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B2. a. 2woTth arravrnon : iii

B. AimloAdynon :
Apxn dIaTAPNONG OTPOPOPUNAG :
Loy =Lx = MUR= mu'E = U =20 = W =4w
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OMKE.: W, =K -K_ = H'w?- 1w = SmR%w?
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B3.a.2wot amdvinon : i

B. AimloAdynon :
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x=u,-t = 4h=u,- /@ = 16h® =y, ==~ = u,? =8gh
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ECiocwon ouvéxelag
Mn-=Mn, = A--uvy=A,-u, = 2A,-y =A,'y, =

u, =2u; = U,° =4u?® = 8gh=4u’ = u’ =2gh

2

Bernoulli: P + %pur2 =P, + %puA +pgh =

1 1
Pr -Pa = 5p-8gh+pdh - Sp-209F" =

P.-P, =4pgh = P, -P, =2pu.?*
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OEMA I
M.u, =v0 = W A= /L-A = U, = 2m/s
m1
AAET : A=A/
dYF=- Fo, - Fa, =-kx-kx=-2kx=-Dx = D=2k (A.A.T.)
2K
Uk =Y = WA =1 & |—-A; =1 = A, =0,2m
2m
+
PvELKS unKog —_—

B@ien L6oppoTtioG —_—>

m1.m2

NM.x=A-nuwt = x=0,2-nusdt (Sl)

w= 1/&= 5r/s
2m
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AL

OEMA A

A3 :>F=0 =
T,=mg =
T,=30N

TPOXAAIA: > 1=0 =
T, n=TLr5 =
30:02=T,-01 =
T,=60N

A2. > F=m,-a, =
W, -T, =m,-a,, =

X cm

T =120-20-a_ (1)

dYr1=la,, =

TOT-R= %mz-RXGva =

T,=10-a_, (2)

oT

(1), (2) = 10a_. =120 -20a_ <
300, =120 <

a,. =4 m/s?
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KeAdgas

OPONTISTHPIA
A3. TPOXAAIA
Y1=la, = T,=048-q, =
T, = 048 a _ T, =12a (1)
02 R,
>2QOMA

YF=mja=>mg-T,=ma =
T,=mg-ma = T,=30-3a (2)
(1),(2) = 120=30-3a < 150=30 < a=2m/s’

Ad. x = %O(-t2 — 0,25 = %-Z-t2 — =025 = t=0,5s

a=a,, R, = a,, =% 22 Cqou
R, 02
1, 1 , 1 .
K= S0* = 2-048-(10-0,5] = --0,48-25=6 J
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